
On p. 182 of the book mentioned in my message, the author says that from the equations 

𝐶𝑀 = 𝐴 − 𝐶𝑁 − 𝐷𝑀 = 𝐵 − 𝐷𝑁, 

we may deduce 

𝑀 =
𝐴𝐷 − 𝐵𝐶

𝐷𝐶 − 𝐷* − 𝐶*, 

 

𝑁 =
𝐵𝐶 + 𝐵𝐷 − 𝐴𝐶
𝐷𝐶 + 𝐷* − 𝐶* , 

but, if we find M in the equation CM = B – DN: 

𝐶𝑀 = 𝐵 − 𝐷𝑁 ↔ 𝑀 =
𝐵 − 𝐷𝑁

𝐶  

and substitute this expression in the equation 𝐶𝑀 = 𝐴 − 𝐶𝑁 − 𝐷𝑀, we obtain 

𝐶𝑀 = 𝐴 − 𝐶𝑁 − 𝐷𝑀 ↔ 𝐶 -./0
1

= 𝐴 − 𝐶𝑁 − 𝐷 -./0
1

↔ 𝐵 − 𝐷𝑁 = 𝐴 − 𝐶𝑁 +

./-2/30
1

↔ 𝐵 − 𝐷𝑁 = 14.130./-2/30
1

↔ 𝐶𝐵 − 𝐶𝐷𝑁 = 𝐶𝐴 − 𝐶*𝑁 − 𝐷𝐵 + 𝐷*𝑁 ↔

−𝐶𝐷𝑁 + 𝐶*𝑁 − 𝐷*𝑁 = −𝐶𝐵 + 𝐶𝐴 − 𝐷𝐵 ↔ 𝐶* − 𝐷* − 𝐶𝐷 𝑁 = 𝐶𝐴 − 𝐶𝐵 − 𝐷𝐵 ↔

𝑁 = 14.1-./-
13./3.1/

, 

where the signs of all terms are changed with respect to what the author says, that is: 

𝑁 =
𝐵𝐶 + 𝐵𝐷 − 𝐴𝐶
𝐷𝐶 + 𝐷* − 𝐶*  

Likewise, if we substitute, in 𝑀 = -./0
1

, what we have found for N, we obtain: 

𝑀 = -./0
1

↔ 𝑀 =
-./ 56758798

53793759
1

=
-2(7956;958;9

38)
53793759
1

=
853789378597956;958;938

53793759
1

=

8537956
53793759

1
= -13./14

1=.1/3.13/
= -1./4

13./3.1/
, 

where, one more time, the signs of all terms are changed with respect to the author’s 

result, which was: 

𝑀 =
𝐴𝐷 − 𝐵𝐶

𝐷𝐶 − 𝐷* − 𝐶* 

What have I done wrong? Or is it just a misprint in the book? 

Thank you very much in advance! 
  

 


